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 : (1)      . 
  (2)        . 
  (3)       . 
 

1. (a)    ?     . 8 

 
  “ ”   ?         

. 
 (b)   dB     6 
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                                
  (i)      Vi = 0.25 volt     1 

mA   .  10 mA   8 volt     
,      . 3 

  (ii)     30 dB  .    6 watt   
   . 3 

 

2. (a) CE   .       Ce   
   . 7 

                                   
   :     CE-  . 
 (b)        . 7 
                                
         . 
 
3. (a)   0000  0011  “High” , 0100  1001  “Low”   

1010  1111  “High”   .   SOP  POS   . 7 

                     
  (i)       : 2 

   Y = (
–
A + B) (A + B) 

  (ii)    EX-OR    . 5 
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 (b) “Clocked RS” -   . 7 

      

  JK -  . 
 

4. (a) T      . 7 

               

        . 

 (b)    ,     far .   , 

   , Rar = 
L

CR . 7 

 

           

   Z = R[1 + jQ(2 – )]   . 
 

5.    :  14 

 (a)    . 

 (b)    . 

 (c)  (bells)     . 

 (d) Class-A    ? 

 (e)   “”   ? 

 (f) “ ”  . 

 (g)     ? 

 (h)   “Pair”   ? 

 (i)    EX-OR   . 

 (j)   Y = A
–
B + AB    . 

 (k) -   ? 

 (l)     ? 

 (m) “Bandwidth”   . 

 (n) “ ”  . 
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Note : (1) Symbols have their usual meaning. 

  (2) Figures on R.H.S. show marks of question. 

  (3) All questions carry equal marks.  

 
1. (a) What is decibel ? Explain the conversion of voltmeter into a decibel meter. 8 

OR 
  What is “harmonic distortion” ? Discuss three point method for calculating 

harmonic distortion. 

 (b) Obtain dB gain equation as given below : 6 

  dB  = 20 log 
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                               OR 
  (i) An amplifier has a signal input voltage Vi = 0.25 volt and draws 1 mA from 

the source. The amplifier delivers 8 volt to a load at 10 mA.   
   Determine the current, voltage and power gain. 3 
  (ii) The power gain of an amplifier is obtained 30 dB. If the output power is       

6 watt, calculate the input power. 3 
 

2. (a) Draw the circuit diagram of CE amplifier and analyse it for the effect of bypass 
capacitor Ce on low frequency response. 7 

                                  OR 
  Explain : Approximate CE high frequency model with resistive load. 

 (b) Explain amplifier low frequency response to a square wave. 7 
                               OR 
  Explain high frequency response to a transformer coupled amplifier. 
 
3. (a) Suppose the output for 0000 to 0011 is “high”, 0100 to 1001 is “low”, and 1010 

to 1111 is “high”. Design SOP and POS circuits. 7 
                    OR 
  (i) Simplify following Boolean equation : 2 

   Y = (
–
A + B) (A + B) 

  (ii) Explain in detail two input EX-OR gate. 5 
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 (b) Write a note on clocked RS flip-flop. 7 

     OR 

  Explain JK flip-flop. 

 

4. (a) Explain mutual conversion between T and  networks. 7 

              OR 

  State and prove Thevenin’s theorem. 

 (b) Explain parallel resonance circuit. Obtain the frequency at anti-resonance, far. 

Prove that impedance at the time anti-resonance is 7 

  Rar = 
L

CR. 

OR 

  Derive that the impedance of the series resonant circuit, for small deviation from 
the resonant frequency, is 

  Z = R[1 + jQ(2 – )]. 

 

5. Answer in short :  14 

 (a) Define power gain. 

 (b) Define conversion efficiency. 

 (c) What is “number of bells” ? Write its equation. 

 (d) What is class A amplifier ? 

 (e) What is “Cascading” of amplifier stages ? 

 (f) Explain work of “Bypass Capacitor”. 

 (g) What is trans-conductance ? 

 (h) What is “Pair” in Karnaugh Map ? 

 (i) Draw symbol for three input EX-OR gate. 

 (j) Simply Boolean equation Y = A
–
B + AB. 

 (k) What is flip-flop ? 

 (l) What is series resonance ? 

 (m) Define Bandwidth. 

 (n) Define Transfer Impedance. 
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